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1) :E:g:g:grﬂ 1) 4:7+32=(4-7)+9=28+9=37 12) fﬁ‘ 3x3x3x3
ICM=2x2x2x2x3x3= 144 3 a7
VRN
2) 10=2x5 2) 52 48:+2=25+8+2=25+4=29 3 9
14=2x7 N
LCM=2x5x7x=T70 3 3
3) 24=2x2x2x3 3) 122:[21-3]*4!:14!:5] i=
LM =2 X2 x 2% 3% 5 x5 = 600 rEoname 32 2x36
L2300 = 13:! = X = i
B " 3x16 16 is GCF
4) 4-8+F=(4-8)+9=32+9=41 4) 9x12.8=(9x1)-8=9-8=1
5) 10-42-25=(10-16)-25 = 14) 24=2x2x2x3
160-25 = 135 N e W=2x2x3x3
8 14+2-1%0=7-0=1 LCM=2x2x2x3x3=72
6) 72-04+2=49-(8+2)=49-45=445
7) 18-2452-11=(18-2)+25-11= 6) 6+28+7-42=6+28+7-16= o 2.2 4. 6 _ 14
| 36+ 25-11 =50 B+d-16=-6 B B e e
8) 15+43-8+10=(5-8)+10= oL
40+ 10 = 50 3
7 (3R +9+46=9+9+6=1+6ua7
) (5P +(3+42)=25+(9+18)=
a0y nne0e
10) 9 +48+12-23=81+(48+12)-27 = 8 32?53.:1%:9:21.3 bl T - - s
Bl+4-27=58
273
11) |42-9| +(8+42=42-9] + (22 = ‘ 1 1
[16-9] +4 =7+ 4 =11 9 § . 2 :;' 1
A 5 y 10 17) .7x.3=.21 (because 110 1/10 = 1/100)
12) |32.852|.(15:3P +18= :
3#.52| .57 +18=(9-25| - 125+ 18 =
I |- (5 + 18= | | u 18) 24x1.2=288 (see nole for #17)
|-16] - 1254 18 =16 -126 4 18 = -9 o . &' & A 1
|£ ::1‘ 11-{ 5
13) |102-82| + |84 22| = 19) 13x2.1=273 (see nole lor #17)
l100-25] + |-8+4| = |75] + |-4| =
TH+4=70 1) 64 2x2x2x2x2x2 o 13
VAN 21
14) [18-36] +(l3-52| - 152 = 2 3 13
|18-36| +(l3-25]-152= VRN 26
|-18] +(l-22]- 152 = 2 J,JE-K 273 (wo decimal places in g
18+(22-15 =18 + T2 =67 3 a answor) g.
-
| T L B £ 2
100-9| - [18-25] = |9 - |8 =
Lt L;"' ‘”\2 20) 4x32=128 3
2D 2E
1) -424(7-3)2- |-2|e-164 (42 -2= 1) @x4x6 (=) 3x(4x6) 1) 3+29-8+72=-3+8-8+49 =46 12) 10=10
A6+ 16.-2=-2 12x6 Ix24 100 =10x 10
72 = 72 LCM = 10 x 10 = 100
2) (5x6)+3=30+3=10 }Lﬂummmlﬂmdmmpnm
4(10-3)-5(B) +8+2=4(7)-30 +4 = 12} yes, see #11
2 2‘5+30+4=2z 13) 6+42+9 (=) 2+6+9
) . onm 8+9 B+9
‘3 “:I'{HI'EI.I [10_5,_5 3] [{Iﬂlnﬂ]i 5]'4'-3}-[132*91 = 20
) 1D & - [169-9) + 20 = 160 + 20 =8 17 = 17
3) -19-(TH-2)+62= -19-(-14) + 36 = 8 2 4
A9 + 14 + 36 = 31
14) yes, see #13
d) A+B+2A-3B=(A +2A - =
14) no, see #13 }M-aﬁ: 3B=(A+2A)+(B-3B)
a7 11 a7 rd a7
4 {A-B)j+A-B=(-A+B)+A-B= 15) * = + =
]{-A+AI|+{B-E:|-EI' 1| 2,1 48 _ 49 _ 48 B 8 8 22
7 4 28 28 49 5) [424+6-2]x11=[7-2]x11=5x11=55 1 15
22
12 7 12 4 48 Either method may be used for dividing
- 16) —— - -
B L s uis e o tinE o U S A B T 6) B+454943=8+454+3=16 fractions)
16) 45
17) 3833 3.1| 1395
wrl
§ 5x3042.7+ (842 se[ 23000 7 AR 4 6R -3 18425022
5x3+16-74(2) =15+ 16-7-2=22 lg{;' e
48
20 8) (192+8)x4-67-200/=24x4- |-133]=
18 96 - 133 =-37
524 (5)2=-25425=0 ~20 m 4,5 _56 15 S5
7 18 [ T e R T M T
q 11
9) w7 7 245 o 29 15
B) (92 +9)+3)|= [81+9)+3|= B:3k3 18) 5 5 "3 T-z’ 72 "V 7T
X
25 18) 004
' i 1 3~_~11 39 77 _ 116 &1 8918
1 1 = - - 16
Bj-a‘g—x—-;—xl;—'-gu 19) 50 R e T I TR TR T —
F-4 1
. XD 28
0 o 19) 3 groups of $.40
mmnﬂpicaimm?whuumﬂ 4 1.2
answer for addtion of fractions. In el
10) S _ .20 LCM is 96 mmumummmmm -
24 96 20 2 answer,
8 _ 27 ) '
* 82 96 sal 106 20) $.24 per person
a7 106 5| 144
a6 i ] 11) 30 5!.-'. 5 " 12
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